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Cost and Management Accounting
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Master of Commerce (M.COM.)
2nd Year Examination, 2022 (June)

Time : 2 Hours] Max. Marks : 80

Note : This paper is of Eighty (80) marks divided into two
(02) Sections A and B. Attempt the questions contained
in these sections according to the detailed instructions
given therein.
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SECTION-A/( @US-% )
(Long Answer Type Questions)/( S ST ol Wg)

Note : Section 'A' contains Five (05) long answer type
questions of Twenty (20) marks each. Learners are
required to answer any Two (02) questions only.

(2x20=40)
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1. Explain the technique of marginal costing and state its
importance in decision making.

HH AN &1 dehiR Sl SATEN it @R ol oF
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2. The ABC Company's financial statement contains the
following information.

Particulars 31st March, 2020

(Rs.)
Cash 1,60,0000
Sundry Debtors 4,00,000
Temporary Investments 3,20,000
Stock 21,60,000
Prepaid Expenses 12,000
Total Current Assets 30,52,000
Total Assets 64,00,000
Current liabilities 8,00,000
10% Debentures 16,00,000
Equity Share Capital 20,00,000
Retained Earnings 8,12,000
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Statement of Profit for the year ended 31st March, 2020

Particulars Rs.

Sales 40,00,000

Less : Cost of goods sold 28,00,000

Interest 1,60,000 29,60,000

Net Profit 10,40,000

Less : taxes @50% 5,20,000
5,20,000

Dividend declared on equity shares Rs. 2,20,000

From the above figures, appraise the financial position of
the company from the points of view of following ratios;
1. Liquidity Ratio

2. Solvency Ratio

3. Profitability Ratio
4

Activity Ratio

FOA ® fade e o fefafas SHEeER @

T 31 974, 2020

(%)
Ths 1,60,0000
fafay IR_R 4,00,000
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3. Define budgetary control. Discuss briefly the objectives and
limitations of budgetary control.
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4. What are the essential features of a good wage system?
Describe the various methods of wage payment and also
describe any two incentive plans.
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5. Define overhead? Mention the different methods of
classification of cost.
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SECTION-B/( @US-9 )

(Short Answer Type Questions)/( T I AT Y9 )

Note : Section 'B' contains Eight (08) short answer type

questions of Ten (10) marks each. Learners are required
to answer any Four (04) questions only. (4x10=40)

M : Tus ‘@ H IS (08) oY S ad WA &
™ €, Yw Y9 & faw g9 (10) A% fawifa
g foenfelel =1 @ 9 Faa WR (04) A ®
SW A T

1. Explain the distinction between cost accounting and

management accounting.
A AT IR UEUd oEidRd B i TR Hiteu|

Explain the various elements of cost.

g & fafa= 9@l &1 smen wifsu

What do you mean by inventory control? What are the
efficient and effective techniques of inventory control?

ol FEE ® S s gHEd e Wl e e
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What is zero base budgeting (ZBB)?

SR S SSfen g eneifa weifen (Siesftdl) @ @2
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5. Discuss any four types of financial statements which are
generally prepared by a company?
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6. What is a cash flow statement? State its uses and limitations.

b yaE foerol 1 87 3@ S SR ' sy

7. What do you understand by break-even analysis? Explain
its uses.

A-fa=ie fagvomor 9 o9 = 9HeM 87 IO SUER
H AT HIC

8. What is labour turnover? Discuss both avoidable and
unavoidable causes of labour turnover.
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